
Multiplier des fractions mixtes négatives (C)

Nom: Date: Note:

Calculez chaque produit.

1. (−445) ×
3
5 =

2.
4
5 × (−423) =

3. (−223) × 125 =

4. (−234) × (−213) =

5.
3
5 × (−315) =

6.
1
3 × (−414) =

7. (−116) × (−234) =

8.
2
3 × (−535) =

9. 356 × (−134) =

10. 325 × (−126) =
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Multiplier des fractions mixtes négatives (C) Réponses

Nom: Date: Note:

Calculez chaque produit.

1. (−445) ×
3
5 = (−245 ) ×

3
5 = (−7225) = (−22225)

2. 4
5 × (−423) = 4

5 × (−143 ) = (−5615) = (−31115)

3. (−223) × 125 = (−83) ×
7
5 = (−5615) = (−31115)

4. (−234) × (−213) = (−114 ) × (−73) = 77
12 = 6 512

5. 3
5 × (−315) = 3

5 × (−165 ) = (−4825) = (−12325)

6. 1
3 × (−414) = 1

3 × (−174 ) = (−1712) = (−1 512)

7. (−116) × (−234) = (−76) × (−114 ) = 77
24 = 3 524

8. 2
3 × (−535) = 2

3 × (−285 ) = (−5615) = (−31115)

9. 356 × (−134) = 23
6 × (−74) = (−16124 ) = (−61724)

10. 325 × (−126) = 17
5 × (−86) = (−13630 ) = (−6815) = (−4 815)
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